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Similar calculation for :
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Lennox : MMSE (1) = II. Mstampf ;D

PI : We will use the following :
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Note
when
1=0
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then ⑤ above is an equality , so AMP is

Bayes - optimal as desired .

we will show
this is the
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Define 418,1) : ¥ -1¥ - ¥+318) ,



where 3- (8) ? I ( ✗ ; 08×+5 )
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Note that by design ,
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G-mouse 2
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Furthermore, I (84*1) → 1g 2 ,
so

the proof is complete . ☐
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Let us consider a more general setting where
☒ is some random vector in IRN
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Note
,
for any ic.CN] ,

II. E.G.) = F.(E.Gil -EET)
%÷ ,

so § ,gdiug{En¥×))
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So
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desired
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Pf : Note ge-HYH-ir.am
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